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4801
M.Com. (Previous) ABST Examination, 2017

ADVANCED ACCOUNTING

Time : Three Hours
Maximum Marks : 100

PART - A (@US-3) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
Teft wo e ¥ | W T S e o e 8
|t WEET % 37 G ©
PART - B (@Us-®) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

T TR D TH-Teh W9 I7d §Y, FoT Uil wed wifer |
FeF WY 1 I 250 ] § HHF T E
Toft wel o 3 T E |
PART - C (@vs-9) [Marks : 30
Answer any Ao questions (300 words each).
All questions carry equal marks.

15 3 v HETU ) RS WeR o ST 300 U § #fem 7

T3ft el & e FEE E
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PART - A
(Evs-27)

(i)  Given goodwill-37,000, fixed assets-43.000. current
assets-35.000. P/L a/c 30.000, creditors 40,000, Share
capital 10.000 share @ Rs. 10 cach. VAlue of share
Rs. 7 per share. What will be the purchase
constderation ?
fem gon &« =nfa T 37,000, Wt wwfia T 45 000,
e TETHAT T 35,000 AN TS 1% @I E 30,000, SR
T 40,000 3 Yt T 10,000 3% @ 10 ¥ 3w, why =@
T4 T 7 4 Ufawa 4 g ?

(i) Define tax expenses as per [AS-12.

[AS-12 % TR T =991 i 9f1rig Fiism

(iii ) State any four examples of preferential creditors U/S

530

YR 350 = SFTEN TSR 79201 5 AR SR S |
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(iv)  Whatis a Minimum lease pavment ?
A TET T 31 72

(v)  Whatis special purpose entity ?
fafim 32w 37=g 701 27

(vi) Whatis Non-controiling interest and how it is disclosed
in consolidated account ?
-faem fia #1373 @iwe @6 § feE wER
wf¥a foran s &2

(vii) What accounting entry is passed for closing balance
of Rebate of bills discounted ?
s T forell W R 3 et 3 3 for S
wfafl %1 5 &2

(viii ) What do you mean by qualifying assets ? Give two
examples of qualifying assets.
FESN Tmiadl ¥ 9 T g9 §? w% 9 Serm

i
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(ix) What is difference between ordinary and potential
ordinary shares ?
| WA Htd | e § st

(x) Give four examples of the expenditures which are
deducted while calculating clear profit.

37 =R FAl 1 F9R ST fae e oy @ Rt

FL IH S 6 E |
PART - B
(Eue-a)
UNIT - I

(FFTE-1)
1. What are the temporary differences 7 How is it took place ?
Explain with examples. 4+4
I SR T 7 9% S wiew g 7 Iee uied T
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2. ABLtd and CD Ltd. amalgamated on 1** April. 2016. A new

company ABCD Ltd. was formed to take over the business

of the existing companies.

-4

Well o WIS FHHA H R 1 56, 2016 g | 39 faEm

FHE & HIEE FoF F g U 59w vandre &y

TATYAT &l T |

Balance Sheet as at 31 March 2016

I Equity and Liabilities AB Ltd. | CD Lud.
(a) Share capital
Authorised — —
Issued and subscribed
Equity shares of Rs. 10 each | 6,00,000 | 7,00,000
(b) Reserve and Surplus :
General Reserve a/c 1,50,000 | 2,00,000
Profit and Loss a/c 1,00.000 50,000
Foreign Projects Reserve 50,000 10,0600
Export Profit Reserve 5,000 10,000

(c) Share application money

pending allotment —

4801/2140
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{d) Non-current Liabilities
(12% Debentures)

(e) Current Liabilitics ;

Trade Pavables (creditors)
Total

Il Assets

(a) Non-Current Assets

(A) Fixed assets
(a) Tangible Assets :
{Sundry Fixed Assets)

(B) Non-current Investment

{b) Current Assets
Cash and Cash Equivalent :
(Cash at Bank)
Stock in Trade

Trade Receivables (Debtors)

Total

3.00.000 | 4.00,000
1.00.000 150,000
13.05,000 | 15,20,000
8,50,000 | 7,50,000
1,05,000 55,000
45,000 40,000
1,25,000 | 2,75,000
1,80.000 | 4.00.000
13.05.000 | 15.20.000
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ABCD Ltd. issued requisite number of equity shares discharge
the claims of equity shareholders of the transferor companies.
Prepare a note showing purchase consideration and draft the
balance sheet of ABC Ltd. assuming :
(1) Amalgamation in the name of merger: and
(2)  Amalgamation in the
TS fafiee 3 et ot & it sl % =
= YA F3H h  sraves wen e sy fifeg fre
%3 Uiohe =l feam g w@itE M =1 e (1) wEeR
IGREIREARCRE)) TSR] i 359 T ¥ |

UNIT - I

(3#T3-11)

3. A Limited company which was has a paid up share capital

Rs. 5,00,000 and a loss of Rs. 5.57,600 standing m its balance
sheet went into Voluntary Liquidation on 31 March. 2016,

The following are the particulars of its assets and liabilitics

as on that date :

48301/2140 7 FTO



31 T 2016 i TH WG wEg frwet fag A wefia O %
500,000 T4T ¥ 5,57,000 ot Wz o # | 3@ fafy W
T Tl wE I o e e T e

Machinery, Stock and Debtors (which realised their book
value) Rs. 3,95.000, Cash Rs. 5,000; Creditors Rs. 2,00,000;
6% Dehentures carrying a floating charge of Rs. 2,50,000 and
interest accrued thereon for six months.

o, =i den e (e g Hed 95 gu) T 3,95,000
T T 5,000 AR, T 2,00,000 T GHR HUHR A 6%
TS T 2,50,000 B G T 6 TNE Bl ST ST |

The Debentures were paid off with interest up to 3Qm
September. 2016 which dates the first and final dividend was
alxo paid to the creditors. Creditors for Rs. 25,000 were
preferential and the rest unsecured. The cost ol liquidation

amounted to Rs. 2,500, The lquidater 1s entiled 10 3%0 on the
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amount realised the 2% on the amount distributed to the
unsecured creditors by way of his own remuneraticn.
Prepare the liquidators final statement of account
HIGE H 30 T, 2016 1 T4 =S WE Figd G 71
fear e ==t fafy =1 Taew ®1 s a4 94 e AE w
T Tl T 1 T 25,0000 F TSR JAIHER & G Vi ST
&1 WA =59 T 2,500 ® 4| Fravs w1 9ga & Ui wm
3% 4] ST TERl 1 faefia 1 T A W 2% wising
T w5 H U w0 AUER § ) s & st e w5
ez 9= |

4, Explain the accounting treatment of initial recognition and
subsequent measurement of finance lease the under JAS-17.

44

[AS-17 % 2771 fad v =61 Wity 969 UF gysreat g9

T Tdichy STIR 9B |
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UNIT - III
(¥=rd-11)

5. When part of an investment in a subsidiary is sold during the
reporting period, how should the parent record its investment
after the disposal in the consolidated accounts 7 8
@ weEE A F fafm & o vm w5 vhiees sty &
we foga 1 fon o # & grert we T fafen = o
FC ¥ YR TEFA TR A R v aa

6. Detine consolidated balance sheet and aiso explain how these
items will be adjusted while preparing consolidated balance
sheet : RESS

THEl T W §7 e 7 e e w s
i, Minority interest

4801/2140 10



t2

Capital profits

it T

(5]

Contingent Liabilities

wi=ry 2rfam
UNIT - IV
(¥o-1v)

7. What do you mean by borrowing cost ? How do borrowing
costs eligible for capitalization ? 4+4
IYR AT R T FuE ¥ IR ome el % forg few
TR 4y e &7

8. Prepare the profit and loss account of a banking company for
the year ending 31% March, 2016 from the following

information. 3+5

freferten e 2 31 9 2016 ) w9E €9 S 99 & g
=T FEE w1 T-wilE T R ST
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Interest on Loans (000's Omitted)

Interest on Fixed Deposits ' 5,18,060
Rebate on Bills Discounted 5.50.000
Commssion charged to customers o 48,000
Establishment vl Blg - 16,400
Discount on Biils Disggugtgdr. 1,08,000
Ig;_ergst on Cash Cre:diit'Agc_:our.m o . 390,000
Intérest on current Ac.c_ou_pts o W B e 4.46,000
Rent and Taxes o | .- 84000
| Interrest on overcirafts -_ o 1,08,000
Directors fees | 6,400
CAudhiees T T T 2000
Interst on -sa:ving; Bank Depésits o i,36._()00
Postage and Telegrams | | 2.800
Printing and Stationery™ - g - 3.800
Advertisement o o 2.600

4801/2140 ‘12



Sundry charges ¥ gy 3.400

Depreciation ; g 16,000
Law Char_ges _ Ppor & uds qom & 1,000
Repair and Maintenange . = 0 oo0ovo 4,000
.. Insurance o gy T e Wl S S 20,000
Provisions: : wa w St SR 5,000
Profit brought forward 50,000
- Tfansfer to statuary reserve br g A 1,00.000
Ti‘ahsfer to general relsél:'\;; R _ 1,350,000
PropQSe_c! dividend H _ - 1,560,000
B \UNIT V

(EW? v
9. Explain the meaning of ' R_ed_sonable Return' in case of electric
companies. How will you deai wijh the surplus profits over
the reasonable return 9

meﬁammm wﬁwwfauaﬁa

Pt ﬁwﬁﬁwmuﬁmwwmm
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10. Given:
Net profit for the year 2016 $ 3 million
Ordinary shares outstanding during 2016 $ 10 million
Average fair value of one ordinary share $8
Share under option during 2016
convertible at $ 6 per share 2 million

Calculated basic and diluted earnings per share

fen gan -

2016 I & T $ 3 faeftam
2016 =l WTHRO 3791 whwal $ 10 faeia
T YR 3w = 3 e $8
2016 1 fareq & arid T 6 wiA oW R sfadavire 2 fela
W 379 T SR 9 SRR §E FA |
PART - C
(Tvs-4)

1. Following are the balance sheet of A Ltd. and B Ltd. as at

31% March, 2016 :

31 919 2016 =t U fafes oiv & fofies & fag fod v &

4801/2140 14



Balance Sheet as at 31st Mareh, 2016

A Ltd. B Ltd.
Rs. Rs.
I Equity and Liabilities
1. Sharcholders funds
Issued and Subscribed capital :
Lquity shares of Rs. 10 each 2,00,000 | 4,00,000
Reserve and Surplus :
Reserve fund 80,000 1.20,000
Workmen compensation fund 20,000 -
2. Shares application money pending
altotment - -
3. Non-current Liabilities
Loan from A Ltd. = 20,000
4. Current Liabilities :
Creditors - 72,0000
Creditors (including B Ltd.
Rs. 10,000) 60.000 -
B/P (tncluding A Ltd. Rs. 4.000) - 8,000
Total 3,60.000 | 6.20,000
4801/2140 15 PToO.



Assets, )

..‘T\:d]1-_CllTl'C]]l- Asscts

{a} Fixed assets
Tangible assels 240000 1 5.00.000
Intangible assets - -

(k) Non-current investinents - -

(¢} LoantoB L.td. 20.000 -

2. Current Assets :

Cash and cash equivalent :

cash at bank - 20,000

Stock 40,600 60.000

Trade receivable :

[Debtors (inclduing A Lid.

Rs. 10,000) - 40,000
Debtors 50,000 -
B/R (including B Ltd.Rs. 4,000) 10.000 2

Total 3.60.000 | 6.20.000

4801/2140 106



B Ltd. agreed to amalgamate A Ltd. on the following terms :

(iy B Ltd. shali give one equity share of Rs. 10 each fully
paid {at a premium of 10%) in Exchange for one equity
share in A Ltd.

(i)  Workmen compensation fund of A Ltd. will not be taken
over by B Ltd. other assets & liabilities will be taken
over at book values,

(i) Intercompany owing will be cancelled by B Ltd. after

absorption.

Prepare necessary ledger accounts to ¢lose the books of A
Ltd. and give journal entries in the books of B Ltd. Also

prepare the balance sheet of B Ltd. soon after amalgamation.

o fafaze U fafaes & = = v W 31 99 2016

TR HT hl TEHd 69

() o faffes T fafiee & o= st ofw & ==a T 10
el T qU = sl 3T (%10 it w) fithg
Ezail
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(i) T©fafee % aftw afoyd wve =1 & fafe o ==
feren smam | o= wfial = <fse = 90 w i
SR |

(i) Hfaema F o= < fofls grr o 9 St o
T #2 fomn s

q%ﬁé@ﬁgﬁ%ﬁ%ﬁ%fﬁqaﬁw&aﬁ@ﬁﬁmm

a1 51 fafaee 1 geael § s watvat S wwm wifeg

& fafree =1yl ¥ e viait S e

T 918 w1 &t fafies o1 fogr o s

2. How are statement of 'Affairs and Deficiency Account'
prepared at time' of liquidation of a company ? Explain with
example,

FE T & Ty feafs faeer wd =ma wE fhe v

‘{ o I "ata 5 L %? 3\«\%1:\] :\q QE GQE|3\'!
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3. X Ltd acquired all the shares in Y Ltd. on 1% Qctober, 2015
at a cost of Rs. 5.60,000. The Balance Sheets of the two

companies as at 315 March, 2016 are as follow -

Balance Sheet

X Ltd. Y Ltd.

[.  Equity and Liabilities
(1) Share capital

Authorised - -

Issued and subscribed

Equity shares of Rs. 50 each| 7,50,000 | 2,50,000

(2) Reserve and Surplus :

General reserve a/c 4,75,000 12.000

Profit and Loss a/c 4,00,000 1,78,000

(3) Shares application money

pending allotment - -

(4) Non-current Liabilities - -

(5) Current Liabilities :

‘Trade Pavables (creditors) 75.000 80,500

Total 17.00.000 | 5.20,000

4801/2140 19 PTO.



II. Assets
(1) Non-Current Assets
(A) Fixed assets
(a) Tangible Assets
Land and Building 5,15,000 1,50,000
Plant and Machinery 1,50,000 | 1,35,000
(b) Intangible Assets
(B) Non-current Investment
Investment 5,60,000 -
(2) Current Assets
Stock in Trade 1,70,000 | 1,01,000

Trade Receivables (Debtors)| 1,40,000 79,000

Cash-and Cash Equivalent :
(Cash at Bank) 1,65,000 55,000
Total 17,00,000 | 5,220,500

The following information is supplied to you :

4801/2140 20



0

(i)

(iii)

(iv)

)

The credit balances of y Ltd. on 1st April, 2015 were
as follows : general reserve account Rs. 10,000; P&L
a/c Rs. 1,40,000.

An interim dividend at 16% per annum (free of tax)
was paid by Y Ltd. during the 2015-16.

The creditors of X Ltd. include Rs. 30,000 for purchases
from Y Itd. on which the letter company made a profit
of 25% on sale price.

Stock of X Itd. includes goods at cost purchased from

Y Ltd. (part of Rs. 15,000 purchased above).

The profit & Loss Account of X Ltd. includes interim

dividend @ 16% per annum from Y Ltd.

Prepare a consolidated Balance Sheet.

T fafiees 3 9% & w9 39 1 SR 2015 T 5,60,000

W1 AR R B 31 A1 H1 S wEtE & g om weR ¥
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() e 2015 ® AR faffes F Hfzz 9w 39 TR @
W= HEE AT T 10,000 F4-71T = 2 1,40,000 |

Giy arg fafres g/ =d 2015-16 F <R 16 Witw = @t =
Fif AT T A T |

(i) v fafiee & @9 § T 30,000 9% fafiRs a4 wa &
g H e 9 o9 A At st S fowa 5o
T 25% T FHHET AT |

(iv) g fofies & =i o 39es 9 | 31fs §9 9 215,000
w7 Tret "itmfaa 2

(v) T fafreE & wv-f w8 9 faffes 9w 16%
F1 i T W I=m ey afsfea £

Ui fag! 7GR &g |

4.  Expalin the followings : 2x5

frefafaa = waemy -

(i)  Rebate on bills discounted
T e | fEe

4801/2140 22



(i)  Acceptance and endorsements

i Td A
(i)  Bills for collection

Ta fF 74 faen
(iv) Cash reserve

g g
{(v)  Statutory liquidity ratio

FefTah T S

5. An electric company carned a profit of Rs. 50,06,000 after

payment of Rs. 1,20,000 As interest on its debentures @ 10%
per annum for the vear ended 31 March, 2016. The following
further data are available :
U TR P 7 31 79, 2016 1 WA @1 A A6 ¥ f
FOTTH W Z1,20,000 T 10% arfties =2 A T & 9vEe %

50,06,000 =11 A1 | Frfafas ofes ot Iqemg € .
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Amount in Rs.

Fixed assets 7,20,00,000
Depreciation written off 2,00,00,000
Loan from state electricity board 1,60,00,000
4% Investment : Reserve Fund 40.00,000
Contingency Reserve 30,00,000
Tariffs and Dividends Control Reserve 4,00,000
Security deposits of Customers 6,00,000
Customers contribution for service lings 2.00,000
Development Reserve 16,00,000
Preliminary Expenses 1.60.000
Average Current Assets 20.40,000

Prepare necessary statement so show disposal of profit by

assuming the bank rate is 5%.

TT T BT F TF W 5% ¥, @l w1 MR e ¥ fu

smETaE fowm SR wmifeu
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